£

SHTEERETHRIER R2.2.10
(B FA)
= & @& TR IERT HIESE fHIE#E W=
— B & = 53,600, 205|122 A 284,620 53,315, 585|P-2 . P-3 [E2@mEs
&Eggg A 45 220
& A 1,468
EREEEMKRE % 1307167338 A 46,850 13,024, 814| T2 T2 e
NEE A 137
EEHEELER(FSE 11,339 12 0 11, 339|BHEEE
& BEE 2. 583
o = 2 nEE A 89
HOE B E 5P ¥ 171, 797( 12 2, 245 174, 04235 i o A fob
FlEE A 143
Al | e - & EEE A 628
BREEHKES 148, 634| 12 Al 148,633 A= L
e A 7,219
: = RIEHRTE A 317,858
& T EREZEE 10, 649, 676] 5= A 383,136 10, 266, 540 R RS A 67 764
ESHTS 9, 769
FBYSHEERLEES 175, 483
BYEREEBRE L 2,872,574 282 175,459 3,048, 033|§hitS
1 NMEE A 24
#h 5 ¥ 31 1T R A
BETRAERE S — 990,378 18| A 93,374 897, 004 R X ol
EERRSENEE “ !
i 27,916, 071 A 345,666 27,570, 405
- HEEEER A 24,738
2 k & = o= 4,748,403| 4% | A 108,205 4,640, 108/5% 0 T 5 A 83 557
E S
> = FAESZER A 61,302
T ok #E =% 9.199,363 35 | A 143,327| 0,056,086 ,5 005 5 , A 82025
=
& & 13,947, 766 A 251,622 13,696, 144
“ 95, 464, 042 A 881,908 94,582 134




